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ECE-300, Quiz #1
1) The function 
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can be simplified as  
a) 
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   c) 
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   d) none of these
2) The integral 
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 can be simplified as
a) 0               b) 1           c) none of these
     3) The integral 
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 can be simplified as

     a) 0      b) 2       c) 
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    4) The integral
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 can be simplified as

    a) 1      b) 0     c) 3     d) 
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    5) The integral 
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 can be simplified as

    a) 1      b) 0     c) 4     d) none of the above

    6) The function 
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 is
a) an energy signal   b) a power signal   c) neither
7) The function 
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 is

a) an energy signal     b) a power signal   c) neither
Continued on back…
8) The function 
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 is

a) an energy signal     b) a power signal   c) neither
  9) The average power in the signal 
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  a) 0     b) 
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 10) The average power in the signal 
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11) The function 
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  b)
[image: image29.wmf]
[image: image30.wmf]1

()5()

2

t

xtrect

-

=

  

c) 
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  d) 
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